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ASSUMPTIONS MADE
1) Methane, Carbon-dioxide (CO2) and Hydrogen (H2) are the components that were recognised in the system in Natural gas. The Desulphurization process removed all sulphur compounds and most of other impurities as methane is 60-90% of natural gas. Only Methane (CH4) and Carbon-dioxide (CO2) enters the second unit as 1.
2) The fuel doesn't take part in the main reaction,
CH4 + H2O = CO + 3H2
Carbon-dioxide (CO) and Hydrogen (H2) are produced.
3) The fresh feed that enters the heat exchanger which is water, is assumed to have been heated to steam and sent to the second unit reactor before the synthetic gas was formed and sent to the 3rd unit.
4) Carbon-dioxide (CO2), Methane (CH4), Hydrogen (H2) and CO that reached the 5th
Unit had a large amount of their composition purged out when being recycled.   
The Water-gas shift conversion equation is
[bookmark: _GoBack]CO + H2O              CO2 + H2 which took place at the 4th Unit.


